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(hPa) oo | gEwy | sETEs (%) (&) (m/s) (mm)
SRR 8 4 1015.3 15. 6 20.0 11.5 67 6.5 2.0 1 028.0
9 1 015.5 15. 6 20. 1 11.5 67 6.6 2.7 1 007.0
10 1015.2 16. 1 20.6 12.0 65 6.4 3.0 1 047.5
11 1 015. 4 17. 3 21. 4 13.5 67 7.1 3.0 1261.0
12 1014.7 16.5 21.0 12.5 63 6.5 3.1 813.0
12%1HAH 1021.8 59 9.7 2.4 67 7.1 3.0 53.0
2 1 018.1 4.4 8.8 0.5 60 6.0 4.1 16.5
3 1 016. 4 8.3 13.2 3.8 58 5.3 3.9 77.5
4 1 012.5 14. 0 19.1 9.1 56 6.7 3.6 88.0
5 1010 8 19.9 25. 3 15.2 62 6.4 2.9 84.0
6 1 008. 4 23.0 27.3 19.5 70 7.9 2.4 138.0
7 1 007.6 28.3 33.3 24.5 65 7.1 3.3 57.5
8 10101 29. 2 34.1) 25.1 62 6.2 3.0 16. 0
9 1011.1 24. 9 29.3 21.0 64 6.3 3.3 113.0
10 1017.2 19.1 23.0 15. 4 67 7.2 2.5 50.0
1" 1 020. 9 13.3 17. 4 9.0 67 6.4 2.5 89.0
12 1 021.1 7.6 11.9 3.8 63 5.3 2.9 30.5
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At RMA20% 282 28513, X TERRET 3.
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e | ek = @ (C) TigmE | THmR | VRS | MkE
(hPa) T Y| BETY | RIEFEY (%) (&) (n/s) (mm)
Tk 8 4 1015.3 13.0 18. 8 8.4 79 7.2 1.5 1 347.5 )
9 10157 13.1 19. 0 8.4 78 7.2 1.5 1127. 0
10 1015. 4 13.6 19. 4 8.8 78 6.9 1.5 1 549.0
11 10157 14. 9 20. 4 10. 4 79 7.5 1.5 1 584.5
12 1015.0 14. 1 19. 9 9.5 17 7.0 1.5 1328.5
1241 H 10221 34 7.8 A 0.2 81 7.8 1.4 69. 5
2 10183 2.0 7.7 A 1.9 76 7.3 1.6 26.5
3 1016. 7 5.7 12.3 0.3 72 6.2 1.7 99.5
4 1012. 8 11.6 18. 4 5.3 67 6.7 1.6 110. 5
5 10111 17. 9 24. 6 12.5 74 6.8 1.5 172.0
6 1 008.6 21.5 26. 6 17. 4 79 8.0 1.3 161. 5
7 1 007.8 26. 0 3.7 21.9 78 7.2 1.7 174. 5
8 1010.5 26. 5 32.8 22.2 76 6.3 1.4 h3. 0
9 1011.5 22.5 28.1 18.0 78 6.0 1.6 204. 5
10 1017.7 16. 4 21.6 12. 2 81 7.5 1.2 110. 0
1 1021.4 10. 6 16. 2 6.2 81 7.6 1.2 129.0
12 1021.5 4.7 10. 5 0.3 79 6.7 1.3 18.0
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A = 5
G _ % 5 FEE | g
& A | BREEOO | >0 = & Gl | T H
2 061.9 47 88 20 2 13 = 5 35 8
2 043. 5) 46) 100 19 9 1" 28 1 9
2 156. 1 49 100 16 1 14 67 3 10
1 893.5 43 115 ) 9 12 30 2 11
2006. 8) 46) 91 17 2 14 44 5 12
110. 0 35 11 5 1 2 - 1H
154. 6 49 5 9 = - 8 - 2
199. 3 54 10 1 = 1 9 - 3
170. 9 44 9 = = 3 5 1 4
206. 2 48 8 - - /4 4 - 5
136. 4 32 1 - 1 1 - 1 6
212.1 48 4 = - 2 3 7
223.7) 57) 1 - - 3 1) = 8
176. 5 48 10 = - 1 3 - 9
138.5 40 11 - - 1 1 11 10
125.7) 42) 6 - - - 1 - 11
152. 9 50 5 2 - - 7 - 12
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HRE L SR T LIRS SEEER
R -
T Fﬁ 5 7 L | .
& & R |0 5m = & Gy | ™ #
16933 38 130 44 22 7 = 19 8
17537 39 121 41 40 1 1 ] 9
1 815.7 41 137 31 38 10 1 3 10
1 603.0 36 133 15 39 7 = 2 11
1866. 2 42 122 34 27 12 = 8| 12
93.2 30 11 8 3 - - - 1H
134. 0 43 11 19 ? - - - 2
180. 8 49 13 4 - - - - 3
173.6 44 11 - - = = = 4
191. 7 44 11 - - 3 - - 5
140. 2 32 12 - - 1 - 1 6
192. 8 44 9 - = 3 = 1 7
213.5 5 10 - - 3 - - 8
175. 1 47 1 - 2 2 - - 9
127. 2 36 10 - 4 - i 10
109. 1 35 7 ~ 9 -~ - 11
135.0 44 6 3 7 < = = 12




